

Remarks on polyadic groups

Alexander M. Gal'mak

Abstract

We prove that an n -ary semigroup $(G, [\])$ is an n -ary group ($n \geq 3$) iff there exists $d \in G$ such that for every $a, b \in G$ and some fixed $i, j \in \{1, \dots, n-1\}$ the following two equations $[\overset{(i)}{a}, \overset{(n-i-1)}{b} \] , x] = d$ and $[y, \overset{(n-j-1)}{b} \] \overset{(j)}{a}] = b$ are solvable.

Generalizing the group result from [4], V. I. Tyutin proved in [3] that an n -ary group $(G, [\])$ may be defined as an n -ary semigroup $(G, [\])$ in which for some fixed $d \in G$ and every $a, b \in G$ the following two equations

$$[\overset{(n-1)}{a} \] , x] = b, \quad [y, \overset{(n-1)}{a} \] = d$$

are solvable.

On the other hand, the author proved in [2] the following characterization of n -ary group

Theorem 1. *An n -ary semigroup $(G, [\])$ is an n -ary group iff for every $a, b \in G$ and some fixed $i, j \in \{1, \dots, n-1\}$ the following two equations*

$$[\overset{(i)}{a}, \overset{(n-i-1)}{b} \] , x] = b, \quad [y, \overset{(n-j-1)}{b} \] \overset{(j)}{a}] = b$$

are solvable. □

Note that this theorem was also obtained by W. A. Dudek as a consequence of some general results (cf. [1]).

Theorem 2. *An n -ary semigroup $(G, [\])$ is an n -ary group ($n \geq 3$) iff there exists $d \in G$ such that for every $a, b \in G$ and some fixed $i, j \in \{1, \dots, n-1\}$ the following equations*

$$\left[\begin{matrix} (i) \\ a, \end{matrix} \begin{matrix} (n-i-1) \\ b \end{matrix}, x \right] = d, \quad \left[y, \begin{matrix} (n-j-1) \\ b \end{matrix}, \begin{matrix} (j) \\ a \end{matrix} \right] = b$$

are solvable.

Proof. It is clear that in an n -ary group $(G, [\])$ these equations have unique solutions for every $a, b, d \in G$ and every $i, j \in \{1, \dots, n-1\}$.

On the other hand, if $(G, [\])$ is an n -ary semigroup in which there exists an element d such that for some fixed $i, j \in \{1, \dots, n-1\}$ and every $a, b \in G$ these equations are solvable, then there are elements $u, v, w, z \in G$ such that

$$\left[\begin{matrix} (n-1) \\ d \end{matrix}, u \right] = d, \quad \left[v, \begin{matrix} (n-j-1) \\ a \end{matrix}, \begin{matrix} (j) \\ d \end{matrix} \right] = a, \quad \left[w, \begin{matrix} (n-1) \\ a \end{matrix} \right] = a, \quad \left[\begin{matrix} (i) \\ a, \end{matrix} \begin{matrix} (n-i-1) \\ b \end{matrix}, z \right] = d.$$

For such $u, v, w, z, d \in G$ and every $a \in G$ we have also

$$\left[a, \begin{matrix} (n-2) \\ d \end{matrix}, u \right] = a, \quad \left[w, \begin{matrix} (n-2) \\ a \end{matrix}, d \right] = d, \quad \left[\begin{matrix} (n-2) \\ d \end{matrix}, u, a \right] = a,$$

because

$$\begin{aligned} \left[a, \begin{matrix} (n-2) \\ d \end{matrix}, u \right] &= \left[\left[v, \begin{matrix} (n-j-1) \\ a \end{matrix}, \begin{matrix} (j) \\ d \end{matrix} \right], \begin{matrix} (n-2) \\ d \end{matrix}, u \right] = \left[v, \begin{matrix} (n-j-1) \\ a \end{matrix}, \begin{matrix} (j-1) \\ d \end{matrix}, \left[\begin{matrix} (n-1) \\ d \end{matrix}, u \right] \right] \\ &= \left[v, \begin{matrix} (n-j-1) \\ a \end{matrix}, \begin{matrix} (j-1) \\ d \end{matrix}, d \right] = \left[v, \begin{matrix} (n-j-1) \\ a \end{matrix}, \begin{matrix} (j) \\ d \end{matrix} \right] = a, \end{aligned}$$

$$\begin{aligned} \left[w, \begin{matrix} (n-2) \\ a \end{matrix}, d \right] &= \left[w, \begin{matrix} (n-2) \\ a \end{matrix}, \left[\begin{matrix} (i) \\ a, \end{matrix} \begin{matrix} (n-i-1) \\ b \end{matrix}, z \right] \right] = \left[\left[w, \begin{matrix} (n-1) \\ a \end{matrix} \right], \begin{matrix} (i-1) \\ a \end{matrix}, \begin{matrix} (n-i-1) \\ b \end{matrix}, z \right] \\ &= \left[a, \begin{matrix} (i-1) \\ a \end{matrix}, \begin{matrix} (n-i-1) \\ b \end{matrix}, z \right] = \left[\begin{matrix} (i) \\ a, \end{matrix} \begin{matrix} (n-i-1) \\ b \end{matrix}, z \right] = d \end{aligned}$$

and

$$\begin{aligned} \left[\begin{matrix} (n-2) \\ d \end{matrix}, u, a \right] &= \left[\left[w, \begin{matrix} (n-2) \\ a \end{matrix}, d \right], \begin{matrix} (n-3) \\ d \end{matrix}, u, a \right] = \left[w, \begin{matrix} (n-3) \\ a \end{matrix}, \left[a, \begin{matrix} (n-2) \\ d \end{matrix}, u \right], a \right] \\ &= \left[w, \begin{matrix} (n-3) \\ a \end{matrix}, a, a \right] = \left[w, \begin{matrix} (n-1) \\ a \end{matrix} \right] = a. \end{aligned}$$

As a consequence we obtain

$$\begin{aligned} \left[\begin{matrix} (i) \\ a, \end{matrix} \begin{matrix} (n-i-1) \\ b \end{matrix}, \left[z, \begin{matrix} (n-3) \\ d \end{matrix}, u, b \right] \right] &= \left[\left[\begin{matrix} (i) \\ a, \end{matrix} \begin{matrix} (n-i-1) \\ b \end{matrix}, z \right], \begin{matrix} (n-3) \\ d \end{matrix}, u, b \right] \\ &= \left[d, \begin{matrix} (n-3) \\ d \end{matrix}, u, b \right] = \left[\begin{matrix} (n-2) \\ d \end{matrix}, u, b \right] = b, \end{aligned}$$

which proves that $x = [z, \overset{(n-3)}{d}, u, b]$ is the solution of the first equation from our Theorem 1.

Since the second equation in Theorem 2 is the same as the second equation in Theorem 1 and has (by the assumption) a solution, Theorem 1 shows that $(G, [\])$ is an n -ary group.

This completes the proof. \square

Corollary. *An n -ary semigroup $(G, [\])$ is an n -ary group ($n \geq 3$) iff there exists $d \in G$ such that for every $a, b \in G$ (at least) one of the following pairs of equations is solvable:*

$$a) [a, \overset{(n-2)}{b}, x] = d, \quad [y, \overset{(n-2)}{b}, a] = b;$$

$$b) [a, \overset{(n-2)}{b}, x] = d, \quad [y, \overset{(n-1)}{a}] = b;$$

$$c) [\overset{(n-1)}{a}, x] = d, \quad [y, \overset{(n-2)}{b}, a] = b;$$

$$d) [\overset{(n-1)}{a}, x] = d, \quad [y, \overset{(n-1)}{a}] = b. \quad \square$$

In the same manner as the above Theorem 2 we can prove

Theorem 3. *An n -ary semigroup $(G, [\])$ is an n -ary group ($n \geq 3$) iff there exists $d \in G$ such that for every $a, b \in G$ and some fixed $i, j \in \{1, \dots, n-1\}$ the following equations*

$$[\overset{(i)}{a}, \overset{(n-i-1)}{b}, x] = b, \quad [y, \overset{(n-j-1)}{b}, \overset{(j)}{a}] = d$$

are solvable. \square

Putting in this Theorem $i = j = n - 1$, we obtain Tyutin's definition of n -ary groups mentioned at the beginning of this paper.

References

- [1] **W. A. Dudek:** *Varieties of polyadic groups*, Filomat **9** (1995), 657 – 674.

- [2] **A. M. Gal'mak**: *New definitions of an n -ary group*, (Russian), Problems in Algebra and Appl. Math., Collected Articles, Minsk 1995, 31 – 38.
- [3] **V. I. Tyutin**: *On conditions under which an n -ary semigroup is an n -ary group*, (Russian), Arithmetical and subgroup construction of finite groups, Collected Articles, Minsk 1986, 161 – 170.
- [4] **K. Ulshofer**: *Schlichtere Gruppenaxiome*, Praxis Math. **1** (1972), 1 – 2.

Institute of Technology
Prospect Pyshkina 19/195
212 002 Mogil'ev
Belarus

Received August 18, 2000